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o e ok ok oW E R R OR

R 0401 HRHE— 33-501-51 | AR (IR B (1) vV (=) K 4 2 i ikt 1] Bt OREGE kB L D)
HBIE A [ 111 e e U2 A I 4 KBRS fi] L1 S A E -5 < Y B
AR 20174 ARy T A o 4 A 2 Y 1T 1S SyHTE R i | L A RE S < 0 S
I [ ® A " 01/10 05/08 06/05 06/05 06/05 06/06 07/03 08/17 09/04 10/27 11/13 11/13 11/13 T1/11 12/07 01/19 02/16 03/12
[ T | 09:52 09:29 07:35 13:35 19:35 01:35 09:17 09:13 09:10 12:38 07:56 13:56 19:56 01:56 10:47 09:25 09:43 09:33
oM @ #E ES] ES3] ES] ES] ES] ES] ES] E3E E3E E3E E3E E3E e e e e e
LB B kB (m) 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5
HIE K5y M T T T T T T T T T T T T T T T T T
KA & Iif§ Iif§ i i i i & & i [} [ i [ i 2 B 1§
Bl (C) 12.2 22.2 19.3 26.4 22,1 17.0 29. 1 30. 1 21.7 19.9 6.9 17.5 13.2 1.5 7.7 7.6 6.1 9.8
5 kiR (C) 15.2 20.0 23.0 25.6 24. 1 23.4 28.9 30.5 24.8 19.1 13.1 16.5 15.3 14.5 8.0 7.1 5.6 10.3
LAE S (ni/s)
| ki m 2.1 2.2 2.3 2.5 2.2 2.2 2.5 2.4 2.3 2.3 2.1 2.2 2.2 2.4 L9 1.8 2.0 L9
18 | B (m) 0.7 0.7 0.5 0.8 0.8 0.6 0.7 1.1 0.9 0.9 0.8 0.7
H|EREE (cm) 17 10 17 14 22 12 >30 >30 22 >30 28 >30 22 >30 >30 28 27 28
FEX [ 18 €2 ()| BB (2 ()| 248 2 (W) B (2 (100 [ 918 2 (W0) | B8 €2 () [ w18 € (00 [ (2 (70 48 € (00 | B4 (2 (90 318 £ (00 | 2448 € (90 B £ (0) | 28048 € (90) B8 £ (0) | 28048 € (H0) BB £ (0) | 3548 €2 (%))
AR iy R B S5 S5 S5 iy iy JE 5L JE 5L $E 5L JE 5L JE 5L I 5L I 5L g 5 I 5L I 5L
pH 8.6 x| 9.1 x| 8.2 9.3 x| 7.9 8.0 6.9 7 7.7 5 7.6 1 7.9 7.5 7.6 8.2 9.1 #| 7.6
DO (mg/1) 10 9.0 2 13 4 8.0 5.2 6.6 5.6 8.0 6 9.6 10 10 10 12 14 8.2
BOD (mg/1)
4 |COD (mg/1) | 8.2 =« 9.3 x| 7.5 x| 9.1 x| 7.0 x| 81 x| 9.3 x| 7.7 x| 6.7 x| 55 x| 56 x| 54 x| 6.9 x| 6.2 [ 50 6.7 x| 6.2 x| 6.7 x
“Iss (mg/1) 17 % 24 x| 20 x| 19 x| 20 x| 36 k[ 9 8 19 x| 8 12 9 22 x| 11 8 12 10 11
e | I (MPN/100m1)
% L (mg/1)
PEH (mg/1) 1.4 x| 1.4 x| 1.1 =x 1.4 x| 1.1 %| L0 2.0 x| 1.3 % 1.5 x| 1.8 x| 1.6 %| 1.6 %
B4y (mg/1) | 0.16 x| 0.22 x| 0.30 = 0.31 %| 0.19 *| 0.20 | 0.13 %| 0.12 =* 0.10 0.17 %] 0.11 *| 0.14 =x
Bk (mg/1)
|/ =7z )= (mg/1)
LAS (mg/1)
15 [EED O (mg/1)
H
BRIV L (mg/1)
BTV (mg/1)
A (mg/1)
Y A=IN (mg/1)
== (mg/1)
Mk (mg/1)
TR LK (mg/1)
PCB (mg/1)
i BFA=2-F & 1 (mg/1)
[0k (47ES (mg/1)
1,2-Y" Junzyy (mg/1)
1, 1= Juuxfly (mg/1)
yi-1, 2=V Jonxfly (mg/1)
HE (1,1, 1-}) pnozpy (mg/1)
1,1, 2-b)Jwnzpy (mg/1)
P ZppxFLo (mg/1)
FhIsmRZFL (mg/1)
g (1, 3-Y " Jmn7 e’y (mg/1)
FUT A (mg/1)
Pt 4 (mg/1)
FA BT (mg/1)
H R (mg/1)
LV (mg/1)
135 # (mg/1)
SoF (mg/1)
T 2 % R OV e ek 28 % (mg/1) | 0.60 0.11 0. 40 0.78 0.35 0.32 0.83 0.78 0.76 0.88 0.61 0.93
L4-UA 3 (mg/1)
FEWEDIE (mg/1)
kil (mg/1)
i S (mg/1)
e |8k CEfRtt) (mg/1)
g |[v vy Ga) (mg/1)
EE (mg/1)




a4 R ok MoKk HE OB OE R R OR
R 0401 g — 33-501-51 | AR (IR B (1) vV (=) K 4 ST ikt 1] Bt OREGE kB L D)
HBIE A [ 111 e N UL s K ke I 4 KBRS fi] L1 S A E -5 < Y B
ELEoES 20174 LLEE T A o 4 A2 2 W 19T 1135 SIHTRER i | L A E S < 0 S
B e H H 04/10 05/08 06/05 06/05 06/05 06/06 07/03 08/17 09/04 10/27 11/13 11/13 11/13 11/14 12/07 01/19 02/16 03/12
woOH oo 09:52 09:29 07:35 13:35 19:35 01:35 09:17 09:13 09:10 12:38 07:56 13:56 19:56 01:56 10:47 09:25 09:43 09:33
A #E ES] ES3] ES] ES] ES] ES] ES] ES] ES] ES3] ES] ES] #E #E #E #E #E
(m) 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5
(mg/1) 0.03 <0. 02 <0. 02 0.19 0.11 0.21 0.09 0.12 0.06 0.18 0.09 0.27
(mg/1) 0.04 0.02 0.04 0.04 0.02 0.02 0.02 0.03 0.02 0.04 0.02 0.03
(mg/1) 0. 56 0.09 0. 36 0.74 0.33 0.30 0.81 0.75 0.74 0.84 0.59 0.90
(mg/1)
(mg/1) 0.03 0. 06 0.15 0.23 0.13 0.12 0.09 0. 06 0.05 0.06 <0.01 0.07
(e S/cm)
(%)
HikmA A (mg/1)
i |46 (%o0)
Jsuan”’ g)va (pg/1) |8.0E+01 1. 0E+02 6. 2E+01 7. 1E+00 1. 6E+01 1. 3E+01 1. 7TE+00 1. 5E+01 1. 5E+01 3. 2E+01 4. 8E+01 5. 0E+00
T | AR (mg/1)
U A8 R (mg/1)
g %5
EPN (mg/1)
TFEY (mng/1)
= (mg/1)
VA==F: VPN (mg/1)
}vA-1, 2=V JuuzfLy (mg/1)
1,2-Y/maFfaxy (mg/1)
p-YrmuXy¥r (mg/1)
AV FHYFF (mg/1)
ATV ) (mg/1)
E szt aFir mp) (mg/1)
AV TaFtT (mg/1)
X (AT HE ) (mg/1)
7 mua 4 m =)L (TPN) (mg/1)
[ =R A (mg/1)
V7 v LR A (DDVP) (mg/1)
7 = /) 771V 7 (BPMC) (mg/1)
A 7 E Rk A (1BP) (mng/1)
i s a)=hkna7 x> (CNP) (mg/1)
=% (mg/1)
(mg/1)
(mg/1)
(mg/1)
H |tk =L ) ~— (mg/1)
BN a=2=0=0 )7 (mg/1)
ES NG (mg/1)
A (mg/1)
g|7=/—n (mg/1)
RILVALT VT B R (mg/1)
4t-F I FNT = ) — (mng/1)
T=Ur (mg/1)
2,4-Y 77 x/)—)L (mg/1)
ENPNIEES (MPN/100m1)
W |3E A (m) 0.7 0.7 0.5 0.8 0.8 0.6 0.7 1.1 0.9 0.9 0.8 0.7
i
I
H
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[ANE T I NS A N /R - A 3
R 0402 g — 33-501-52 | KL GERMIR) B () vV (=) K 4 2 i ikt 1] B i OREGEPIILEC X %)
HBIE A [ 111 e e U2 A I 4 KBRS fi] L1 S A E -5 < Y B
AR 20174 JiE LLEE T A R A KT SIHTRER fi] LB S < Y
I [ ® A " 01/10 05/08 06/05 06/05 06/05 06/06 07/03 08/17 09/04 10727 11/13 11/13 11/13 11/14 12/07 01/19 02/16 03/12
OB o4 09:39 09:20 07:25 13:25 19:25 01:25 09:08 09:04 09:00 12:26 07:40 13:40 19:40 01:40 10:37 09:16 09:31 09:22
oM @ #E ES] ES3] ES] ES] ES] ES] ES] ES] ES] ES3] ES] ES] #E e e e e
LB B kB (m) 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5
HIE K5y M T T T T T M M M M M M M M M M M M
KA & 1§ Iif§ i i i i & & i [ [ i [ i [ B B
Bl () 11.8 21.8 19.0 25.6 23. 1 17.9 28.5 29.4 21.0 19.8 6.0 17.5 12.0 11.3 7.0 7.1 6.0 9.0
5 ki () 14.9 19.8 23.0 25.7 24.9 23.3 28.6 30.7 25.3 20.4 13.2 16.0 15.3 14.6 8.0 6.4 5.5 10.3
B {3 (ni/s)
| ki m 2.2 2.2 2.3 2.5 2.3 2.3 2.6 2.6 2.5 2.4 2.4 2.4 2.5 2.5 1.9 2.0 2.1 2.0
18 | B (m) 0.6 0.6 0.4 0.7 0.6 0.6 0.5 0.8 0.7 0.7 0.5 0.6
A |[ZEHE (cm) 11 10 9 13 9 9 16 26 16 12 9 24 21 22 16 17 15 15
il (18 ()| S8 (2 ()| 248 € ()| B (2 (o) [ 48 i ()| B0 €2 (o) 18 € (0) | BE0H8 (2 (90 48 2 (00 | 34048 € (v B8 £ () | 2448 € (90) B 2 (0) | 28048 € (90) [ £ (0) | 2848 € (o)A £ ()| 3548 €2 (%))
LS R B R R R R R R R R R R R R I 5L I 5L I 5L I 5L
pH 9.1 x| 9.2 x| 8.4 9.3 x| 8.4 7.8 7.0 7.5 7 7.1 7.6 7.6 7.9 7.7 8.5 9.5 %] 9.4 *| 8.0
DO (mg/1) 10 10 7.8 13 9.4 7.0 5.8 4.8 x| 6.4 7.4 8.4 9.8 11 10 12 17 17 9.6
BOD (mg/1)
4 |[cOD (mg/1) | 9.2 | 9.9 x| 85 x| 9.6 x| 9.6 x| 89 x| 9.2 x| 7.8 x| 7.8 x| 6.9 x| 7.6 x| 6.5 x| T.1 x| 7.0 [ 7.0 x| 9.6 x| 8.2 x| 9.3 =«
IS S (mg/1) 31 * 30 * 33 * 27 * 45 * 42 * 24 * 10 19 * 22 * 43 * 15 17 * 20 * 21 * 21 * 20 * 24 *
e | I (MPN/100m1)
% L (mg/1)
PEH (mg/1) 1.7 % 1.1 x| 1.3 = 2.0 x| 1.8 x| 0.97 1.8 x| 2.8 % 1.6 %[ 2.0 x| 2.1 *| 3.1 %
B4y (mg/1) | 0.20 x| 0.26 x| 0.35 = 0.39 x| 0.29 *| 0.23 x| 0.21 x| 0.17 = 0.16 %] 0.20 *| 0.16 | 0.20
Bk (mg/1)
|/ =7z )= (mg/1)
LAS (mg/1)
15 [EED O (mg/1)
H
BRIV L (mg/1)
BTV (mg/1)
EA (mg/1)
Y A=IN (mg/1)
== (mg/1)
Mk (mg/1)
TR LK (mg/1)
PCB (mg/1)
i BFA=2-F & 1 (mg/1)
[0k (47ES (mg/1)
1,2-Y" Junzyy (mg/1)
1, 1= Juuxfly (mg/1)
yi-1, 2=V Jonxfly (mg/1)
HE (1,1, 1-}) pnozpy (mg/1)
1,1, 2-b)Jwnzpy (mg/1)
P ZppxFLo (mg/1)
FhIsmRZFL (mg/1)
g (1, 3-Y " Jmn7 e’y (mg/1)
FUT A (mg/1)
Pt 4 (mg/1)
FA BT (mg/1)
H R (mg/1)
LV (mg/1)
135 # (mg/1)
SoF (mg/1)
T 2 % R OV e ek 28 % (mg/1) | 0.41 0.04 0.03 0.57 0.27 0.25 0.72 0.77 0.77 0.57 0.82 2.5
L4-UA 3 (mg/1)
FEWEDIE (mg/1)
kil (mg/1)
i S (mg/1)
e |8k CEfRtt) (mg/1)
g |[v vy Ga) (mg/1)
EE (mg/1)
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a4 R ok MoKk HE OB OE R R OR
R 0402 g — 33-501-52 | AR (IR B (1) vV (=) K 4 ST ikt 1] Bt OREGE kB L D)
HBIE A [ 111 e N U2 A I 4 KBRS fi] |1 B A RE S < Y B
AR 20174 ARy T A o 4 KT SIHTRER i | L A E S < 0 S
B e H H 04/10 05/08 06/05 06/05 06/05 06/06 07/03 08/17 09/04 10/27 11/13 11/13 11/13 11/14 12/07 01/19 02/16 03/12
woOH oo 09:39 09:20 07:25 13:25 19:25 01:25 09:08 09:04 09:00 12:26 07:40 13:40 19:40 01:40 10:37 09:16 09:31 09:22
A #E ES] ES3] ES] ES] ES] ES] ES] ES] ES] ES3] ES] ES] #E #E #E #E #E
(m) 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5
(mg/1) 0.04 <0. 02 <0. 02 0.13 0.25 0.09 0.15 0.15 <0.02 <0.02 0.02 0.23
(mg/1) 0.03 0.02 0.01 0.03 0.02 0.02 0.02 0.03 0.02 0.03 0.03 0.05
(mg/1) 0.38 0.02 <0. 02 0.54 0.25 0.23 0.70 0.74 0.75 0.54 0.79 2.5
(mg/1)
(mg/1) 0. 05 0.08 0.18 0.26 0.21 0.14 0.12 0.05 0.05 0.03 <0.01 0.08
(e S/cm)
(%)
HikmA A (mg/1)
i |46 (%o0)
Jsuan”’ g)va (pg/1) |8.5E+01 1. 1E+02 7.3E+01 2. 7TE+01 1. 2E+01 1. 6E+01 8. 6E+00 3. 3E+01 4. 6E+01 1. OE+02 8.9E+01 4. 6E+01
T | AR (mg/1)
U A8 R (mg/1)
g %5
EPN (mg/1)
TFEY (mng/1)
= (mg/1)
VA==F: VPN (mg/1)
}vA-1, 2=V JuuzfLy (mg/1)
1,2-Y/maFfaxy (mg/1)
p-YrmuXy¥r (mg/1)
AV FHYFF (mg/1)
ATV ) (mg/1)
E szt aFir mp) (mg/1)
AV TaFtT (mg/1)
X (AT HE ) (mg/1)
s mn % o= (TPN) (mg/1)
[ =R A (mg/1)
V7 v LR A (DDVP) (mg/1)
7 = /) 771V 7 (BPMC) (mg/1)
A 7 E Rk A (1BP) (mng/1)
i |7 v= 7 = (NP (mg/1)
hrxy (mg/1)
(mg/1)
(mg/1)
(mg/1)
H |tk =L ) ~— (mg/1)
BN a=2=0=0 )7 (mg/1)
ES NG (mg/1)
A (mg/1)
g|7=/—n (mg/1)
RILVALT VT B R (mg/1)
4t-F I FNT = ) — (mng/1)
T=Ur (mg/1)
2,4-Y 77 x/)—)L (mg/1)
ENPNIEES (MPN/100m1)
W |3E A (m) 0.6 0.6 0.4 0.7 0.6 0.6 0.5 0.8 0.7 0.7 0.5 0.6
i
I
H
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[ANE T I NS A N /R - A 3
HR S 0403 HRHE— 33-501-01 | KL GERHIR) B (1) vV (=) S 2 i AR Bt OREGE kB L D)
HBIE A [ 111 e N U2 A I 4 KBRS i | L P RE S < 0 S
AR 20174E A X Sy 7 A A s 4 Wl SyHTHE R i L S-S <0 S
B oH A H 01/10 05/08 06/05 06/05 06/05 06/06 07/03 08/17 09/01 10/27 11/13 11/13 11/13 T1/11 12/07 01/19 02/16 03/12
[ T | 09:25 09:03 07:15 13:15 19:15 01:15 08:55 08:54 08:50 12:13 07:20 13:20 19:20 01:20 10:26 09:03 09:17 09:07
oM @ e E3] E3] ES] ES] ES] e e EE E3E E3E EE EE e e e e e
I £ i S S (m) 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3
HIE K5y M T T T T T T T T T T T T T T T T T
P13 & Iif§ I i i i i i & i [ [ i 2 B 2 B i
Bl (C) 11.5 22.2 19.2 26.3 23.0 17.6 28.2 29.6 21.4 19.6 6.1 17.0 13.8 12.8 6.5 7.0 4.1 7.8
5 ki (C) 15.2 19.6 22.7 26.0 24.3 23.9 28.3 30.8 25.1 19.5 13.2 16.0 14.8 14.2 8.0 7.0 4.9 10.8
Bl (ni/s)
| ki m 1.4 1.3 1.5 1.6 1.3 1.4 1.8 L7 1.5 L5 1.5 1.5 1.6 1.6 L1 L1 L2 L2
18 | B (m) 0.7 0.7 0.5 0.7 0.7 0.7 0.5 0.8 0.8 0.9 0.9 0.7
H|EREE (cm) 15 11 11 12 12 13 26 29 20 17 15 17 20 20 >30 27 >30 22
FEX 18 ()| S8 (2 ()| S48 € ()| B (2 (o) [ 248 ()| B0 €2 (o) 18 € (00 [ (2 (70 48 € (00 | 34048 (2 (90 18 £ (0) | 2448 (90 B £ (0) | 28048 € (90) B £ (30) | 28048 € (H0) [ £ ()| 3548 €2 (%))
AR iy B B R R R S5 S5 $E 5L JE 5L $E 5L JE 5L JE 5L I 5L I 5L I 5L I 5L I 5L
pH 9.2 x| 9.3 *| 8.8 *| 9.3 x| 8.9 x| 8.4 7.2 7.6 7.8 7.5 7.6 8.1 7.8 7.8 8.2 8.7 #*| 8.9 *| 7.6
DO (mg/1) 11 10 9.2 13 11 9.0 5.8 5.6 7.2 8.6 8 10 10 10 11 13 14 8.4
BOD (mg/1)
4 |COD (mg/1) | 7.8 | 9.8 x| 80 x| 9.0 x| 82 x| 7.9 x| 87 x| 7.5 x| 7.3 x| 7.4 x| 6.6 x| 7.2 x| 7.0 x| 68 x| 57 [ 7.2 x| 58 [ 7.8 x
“Iss (mg/1) 18 | 21 x| 25 x| 24 x| 29 x| 29 x| 12 10 15 16 %] 21« 18 x| 18 o« 19 x| 10 11 6 15
e | I (MPN/100m1)
% L (mg/1)
EEHR (mg/1) L1 % 14 x| L2 = 2.2 x| L0 1.5 x| L9 x| L4 =« 1.3 x| 1.8 x| L5 x| 2.1 =%
B4y (mg/1) | 0.12 =« 0.23 *[ 0.29 =* 0.29 %| 0.26 x| 0.26 x| 0.19 %| 0.12 =* 0.10 0.12 | 0.10 0.15
A R (mg/1) 0. 006 0. 007 0. 007 0.010
Bl =17z —n (mg/1) 0. 0000€ k0. 0000€ k0. 0000€ 0. 0000€
LAS (mg/1) 0.0010 0. 0010 0.0013 0. 020
175 |EED O (mg/1) 11 10 9.0 9.4 11 9.0 5.4 4.4 6.6 7.8 9.2 10 10 10 11 13 16 8.4
H
IR (mg/1) 0. 0003
LTV (mg/1) ND
EA (mg/1) <€0. 005
Vay (A=A (mg/1) €0.02
b % (mg/1) €0. 005
Hek R (mg/1) <€0. 0005
T L KER (mg/1) ND
PCB (mg/1) ND
g |vrmrAy (mng/1) <0. 002
MEAL R (mg/1) <€0. 0002
1,2-v" Juoxpy (mg/1) <0. 0004
1, 1-¥" Junxfly (mg/1) <€0. 002
yA-1, 2-V" Junzfly (mg/1) <€0.004
HE 1,1, 1-1)swnzpy (mg/1) <0. 0005
1,1,2-})Jeoxpy (mg/1) <0. 0006
h)ZpRxFLy (mg/1) <€0. 001
FhI/unxFLy (mg/1) <0. 0005
I |1,3-Y Jun7 aa (mg/1) <0. 0002
FUTh (mg/1) <0. 0006
vev (mg/1) <0. 0003
FANCHNT (mg/1) <€0. 002
S e (mg/1) <€0.001
Ly (mg/1) <€0.002
ERES (mg/1) 0.07
So# (mg/1) 0.12
T A S B OV e 2 5 (mg/1) | 0.28 0.03 0.07 0.77 0.31 0.37 0.76 0.76 0.76 0.93 0.75 1.2
L 4-VFF4 (mg/1) <0. 005 <€0. 005
FEWEDIE (mg/1)
il (mg/1) <0.01 <0.01
i | WS (mg/1) 0.006 0.007 0.007 0.010
e |8k CEfRtt) (mg/1) 0.09 0.25
5 Ty (V) (mg/1) 0.01 <0.01
nl7eEs (mg/1) <€0. 03 <€0.03

5/8




o e ok ok oW E R R OR

R 0403 RS 33-501-01 R GEROIR) B () vV (=) Kk 4 U i AR Bt OREGE kB L D)
AT R4 i 111 47 L] U RS I 4 BROKHEBE ] L1 e S < 0 AR
AR 20174E A X Sy 7 A A s 4 Wl SyHTHE R i L S-S <0 S
B B A H 01/10 05/08 06/05 06/05 06/05 06/06 07/03 08/17 09/01 10727 T1/13 T1/13 T1/13 11/14 12707 01/19 02/16 03/12
BB oA 09:25 09:03 07:15 13:15 19:15 01:15 08:55 08:54 08:50 12:13 07:20 13:20 19:20 01:20 10:26 09:03 09:17 09:07
: E3] #J@ #J@ ESE] ESE] ESE] ESE] ESE] ESE] #JE ESE] ESE] ESE] #Id #Id #Id #Id #Id
(m) 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.3
(mg/1) | <0.02 0. 02 0. 02 0.47 0.22 0.12 0.05 0.04 0. 02 0.03 0.09 0.28
(mg/1) | 0.02 0.01 0.02 0.03 0.02 0.02 0.01 0.02 0.02 0.01 0.02 0.03
(mg/1) | 0.26 <€0.02 0.05 0.74 0.29 0.35 0.75 0.74 0.74 0.92 0.73 1.2
(mg/1)
(mg/1) | <0.01 0.07 0.14 0.20 0.21 0.18 0.12 0.04 0.04 0.03 0.01 0.07
(uS/cm)
(%)
e A A (mg/1)
fil (e (%o0)
sun7a (ung/1) |7.06+01 |9.9E+01 [6.9E+01 1.3B+01 |6.6E+00 |1.3E+01 [1.1E+01 |2.4E+01 2.5E+01  |4.0E+01 [3.5E+01 |1.1E+01
TH (AR R (mg/1) 3.1 4.2 2.7 2.6
M YUm AL ERRRE (mg/1)
g |
EPN (mg/1) <0. 0006 <0. 0006
TYFEY (mg/1)
= (mg/1)
VA==F: VPN (mg/1)
}vA-1, 2=V JuuzfLy (mg/1)
1,2-Y/maFfaxy (mg/1)
P~y ¥ (mg/1)
AV FHYFF (mg/1)
LT ) (mg/1)
H D 2= haFF (Ep) (mg/1)
AV TaF+T7 v (mg/1)
A3 o LG (RS (mg/1)
s mn % o= (TPN) (mg/1)
[ =R A (mg/1)
V7 v LR A (DDVP) (mg/1)
7= ) 7 H V7 (BPC) (mg/1)
A 7 a7k A (IBP) (mg/1)
i s a)=hkna7 x> (CNP) (mg/1)
Pz (mg/1)
(mg/1)
(mg/1)
(mg/1)
H |tk =L ) ~— (mg/1)
BN a=2=0=0 )7 (mg/1)
B HY (mg/1)
v7v (mg/1)
g|7=/—n (mg/1)
RILVALT VT B R (mg/1)
At-F I FNT = ) —Ib (mg/1)
T=Ur (mg/1)
2,4-Y 77 x/)—)L (mg/1)
ENPNEETES (MPN/100m1)
B FE (m) 0.7 0.7 0.5 0.7 0.7 0.7 0.5 0.8 0.8 0.9 0.9 0.7
i
I
A
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[ANE T I NS A N /R - A 3
R 0404 g — 33-501-02 | KR GERIR) B (1) vV (=) S 2 i AR Bt OREGE kB L D)
HBIE A [ 111 e e U2 A I 4 KBRS fi] L1 S A E -5 < Y B
AR 20174 ARy T A R A 1] SyHTHERI i | L A E S < 0 S
B oH A H 01/10 05/08 06/05 06/05 06/05 06/06 07/03 08/17 09/04 10/27 11/13 11/13 11/13 T1/11 12/07 01/19 02/16 03/12
[ T | 09:10 08:43 07:00 13:00 19:00 01:00 08:40 08:40 08:35 11:58 07:00 13:00 19:00 01:00 10:15 08:49 08:40 08:45
oM @ #E ES] ES3] ES] ES] ES] ES] ES] ES] E3E E3E E3E E3E e e e e e
LB B kB (m) 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5
HIE K5y M T T T T T T T T T T T T T T T T T
P13 & i 1§ i i i i i & i [} [ i 2 i 2 B B
Bl (C) 11.1 21.3 20.2 28.3 23.0 17.3 29.8 29.6 215 19.6 5.3 17.8 14.0 13.5 6.2 6.8 .0 6.5
5 ki (C) 15.5 20.0 23. 1 26.7 25.5 23.5 28.6 30.9 25.6 19.0 13.5 15.6 14.5 14.0 8.2 6.6 5.2 10.5
Bl (ni/s)
| ki m 5.2 5.2 5.2 5.3 5.0 5.1 5.5 5.4 5.3 5.3 5.2 5.2 5.3 5.4 4.7 4.8 4.9 4.9
18 | B (m) 0.7 0.7 0.5 0.8 0.9 0.7 0.5 0.8 0.8 0.9 0.7 0.6
H|EREE (cm) 15 11 14 12 14 17 22 >30 23 17 23 23 24 26 >30 >30 22 24
FEX 18 ()| S8 (2 ()| S48 € ()| B (2 (o) [ 248 ()| B0 €2 (o) 18 € (00 [ (2 (70 48 € (00 | 34048 (2 (90 18 £ (0) | 2448 (90 B £ (0) | 28048 € (90) B £ (30) | 28048 € (H0) [ £ ()| 3548 €2 (%))
AR Eis B R R R R R R JE 5L JE 5L JE 5L JE 5L I 5L I 5L I 5L I 5L i
pH 9.3 x| 9.3 *| 8.5 9.2 x| 9.0 *| 8.2 7.6 7 7.8 7.4 7 8.2 7.7 7 8.2 9.0 | 9.5 *| 7.6
DO (mg/1) 12 9.8 8.6 12 12 8.4 8.0 6.0 6.8 7.6 9.2 11 10 9.8 11 14 16 9.0
BOD (mg/1)
4 |COD (mg/1) | 7.7 | 9.6 x| 7.7 x| 88 x| 84 x| 7.5 x| 9.4 x| 6.4 k[ 6.8 x| 7.2 x| 6.0 k[ 6.9 x| 6.1 x| 6.4 [ 55 x| 67 x| 7.6 x| 7.1 x
“Iss (mg/1) 17 % 18 x| 20 x| 21 x| 23 x| 20 x| 15 5 13 19 % 13 14 14 11 6 10 12 12
e | I (MPN/100m1)
% L (mg/1)
BEH (mg/1) 1.3 x| 1.0 1.8  x 1.8 x| 0.97 1.0 1.9 x| L2 =« L2 x| L4 L4 x| 2.4 %
B4y (mg/1) | 0.10 0.22 x| 0.28 * 0.24 x| 0.21 *| 0.25 | 0.20 x| 0.10 0. 088 0.12 | 0.098 0.13  *
A R (mg/1) 0. 006 0. 005 0. 004 0. 009
g|l/=n7=x—0 (mg/1)
LAS (mg/1)
175 |EED O (mg/1) | 0.8 4.2 3.2 1.8 3.6 3.0 3.6 2.4 0.6 5.4 5.4 3.8 4.2 4.0 11 13 4.2 6.8
H
IR (mg/1) <0. 0003
LT (mg/1) ND
EA (mg/1) <€0. 005
(PPN (mg/1) <€0.02
b # (mg/1) <€0. 005
AR (mg/1) <0. 0005
TV LK ER (mg/1) ND
PCB (mg/1) ND
fe|YrmEAS (mg/1) <€0. 002
MEAL R (mg/1) <€0. 0002
1,2-Y" Jnnzpy (mg/1) <0. 0004
1,1-Y" Jnzfly (mg/1) <€0. 002
YA-1, 2-¥" Junfly (mg/1) <€0.004
HE{1, 1, 1- 1) smnpy (mg/1) <0. 0005
1,1,2-p)wozhy (mg/1) <0. 0006
h)ZpRxFLy (mg/1) <€0. 001
FhI/unxFLy (mg/1) <0. 0005
17 |1, 3= Jen7 Ay (mg/1) <0. 0002
FUTh (mg/1) <0. 0006
vev (mg/1) <0. 0003
FANCHNT (mg/1) <€0. 002
S e (mg/1) <€0. 001
Ly (mg/1) <€0. 002
ERES (mg/1) 0.08
SoF (mg/1) 0.12
T 2 % R OV e ek 28 % (mg/1) | 0.29 <€0.03 0.14 0.50 0.37 0.38 0.74 0.77 0.82 0.75 0.49 1.3
L 4-VFF4 (mg/1) <0. 005 <€0. 005
FEWEDIE (mg/1)
il (mg/1) <0.01 <0.01
i | WS (mg/1) 0.006 0. 005 0. 004 0. 009
e |8k CEfRtt) (mg/1) 0.09 0.28
5 Ty (V) (mg/1) 0.01 <0.01
nl7eEs (mg/1) €0.03 <€0.03
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a4 R K Bk EOWOE R R OR
R 0404 RS 33-501-02 R GEROIR) B () vV (=) Kk 4 U i AR Bt OREGE kB L D)
AT R4 i 111 47 e U RS I 4 KBRS i | L P RE S < 0 S
AR 20174E A X Sy 7 A A s 4 K Sy i L S-S <0 S
B B A H 01/10 05/08 06/05 06/05 06/05 06/06 07/03 08/17 09/01 10727 11/13 11/13 11/13 11/14 12707 01/19 02/16 03/12
[ T 09:10 08:43 07:00 13:00 19:00 01:00 08:40 08:40 08:35 11:58 07:00 13:00 19:00 01:00 10:15 08:49 08:40 08:45
: E3] #J@ #J@ ESE] ESE] ESE] ESE] ESE] ESE] ESE] ESE] ESE] ESE] e e e e e
(m) 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5 0.5
(mg/1) | <0.02 0. 02 0. 02 0.04 0.19 0. 10 0.08 0.02 0. 02 0.04 0. 02 0.22
(mg/1) | 0.02 <€0.01 0.02 0.03 0.02 0. 02 0.01 0. 02 0.01 0.02 0.02 0.03
(mg/1) | 0.27 <€0.02 0.12 0.47 0.35 0.36 0.73 0.75 0.81 0.73 0.47 1.3
(mg/1)
(mg/1) | <0.01 0.06 0.15 0.15 0.16 0.18 0.13 0.03 0.03 0.03 <0.01 0.07
(uS/cm)
(%)
e A A (mg/1)
fil (e (%o0)
sun7a (ng/1) |7.36+01 |1.1E+02 |5.6E+01 4.9E+01  [7.4E+00 |1.0E+01 [9.6E+00 |2.4E+01 2.0E+01 [3.9E+01 [6.8E+01 |5.6E+00
T | AR (mg/1) 4.7 3.8 2.7 2.6
M YUm AL ERRRE (mg/1)
g |
EPN (mg/1) <0. 0006 <0. 0006
TYFEY (mg/1)
= (mg/1)
VA==F: VPN (mg/1)
}vA-1, 2=V JuuzfLy (mg/1)
1,2-Y/maFfaxy (mg/1)
P~y ¥ (mg/1)
AV FHYFF (mg/1)
AAT) v (mg/1)
H S e =FaFry OEp) (mg/1)
AV TaF+T7 v (mg/1)
A% 2 i (i) (mg/1)
s mn % o= (TPN) (mg/1)
[ =R A (mg/1)
V7 v LR A (DDVP) (mg/1)
7= ) 7 H V7 (BPC) (mg/1)
A 7 a7k A (IBP) (mg/1)
i s a)=hkna7 x> (CNP) (mg/1)
Pz (mg/1)
(mg/1)
(mg/1)
(mg/1)
H |tk =L ) ~— (mg/1)
BN a=2=0=0 )7 (mg/1)
B HY (mg/1)
v7v (mg/1)
g|7=/—n (mg/1)
RILVALT VT B R (mg/1)
At-F I FNT = ) —Ib (mg/1)
T=Ur (mg/1)
2,4-Y 77 x/)—)L (mg/1)
ENPNEETES (MPN/100m1)
B FE (m) 0.7 0.7 0.5 0.8 0.9 0.7 0.5 0.8 0.8 0.9 0.7 0.6
i
I
A
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